fifo+switch!!40

switch between fifo+ send S;(j;ise)
request Req (i;e)
acknowledge Ack1(j;ize) and
send S>(j3ise) request Reqs(ise) acknowledge Acka(j;ise)
=qet (Vi, 5:C, z, y:E.
S (j3isz)
= S1(4;i5y)
= ((xc<y
S Greg{e®l Sa(jsie)}
Jack:{e:E| Acka(jsise)}
(Reqy(jsreq) & x ¢< req & req ¢< ack & ack ¢< y)))
& (ye<a
= (Jreg:{e:E[ S1(jiize)}
Jack:{e:E| Acky(jize)}
(Reqq(jsreq) & y ¢< req & req c< ack & ack c< x)))))
& (Vi, j:C.
(Ve, ¢/ {e:E| Ack1(jiie)} . (me’ c<e) = (e < ¢€'))
& (Ve, e':{e:E| Acka(j5i5e)} . (me’ c<e) = (e < ¢')))
& (Vi, 5:C.
(Ve, e':{e:E| S1(j;i;e) & Reqy(jie)} . (me' c<e) = (e < ¢€'))
& (Ve, ¢/ {e:E| Sa(jsise) & Reqqy(jie)} . (me' c<e) = (e < €
& (Vi, j:C.
(Ve, e':{e:E| S1(j;ie) & Req,(j;e)} -
(e <€) = (Fa{e:E| Ack1(j5i5e)} . ((e < a) & (a < ¢))))
& (Ve, e':{e:E| Sa(j;ise) & Reqq(jse)} .
(e < €)= (Fa:{e:E| Acka(jie)} . ((e < a) & (a < €')))))

)

clarification:

fifo+switch(es;C;j,i,e.51(j
3
;e);j7i7e'52(j
3
se)i,e. Reqq (i
;e);jviae'ACkl(j
3
se);i,e. Reqq (i
se);dsise. Acka(j
3
ie))
=4t (V2:C, j:C.
Vr:es-E(es), y:es-E(es).



Sa(j3isz)
= S1(j5i3y)
= ((es-causle(es;z;y)
= (Freq:{e:es-E(es)| Sa(j5i;¢)}
Jack:{e:es-E(es)| Acka(j;ise)}
(Regs(jireq)
& es-causle(es;z;req)
& es-causle(es;req;ack)
& es-causle(es;ack;y))))
& (es-causle(es;y;x)
= (Jreg:{e:es-E(es)| S1(j5i;e)}
Jack:{e:es-E(es)| Acki(j;ize)}
(Req, (j;req)
& es-causle(es;y;req)
& es-causle(es;req;ack)
& es-causle(es;ack;x))))))
& (Vi:C, j:C.
(Ve:{e:es-E(es)| Ack1(j;ise)} , e:{e:es-E(es)| Ack1(j;ize)} .
(—es-causle(es;e’;e)) = es-causl(es; e; €'))
& (Ve{ewes-E(es)| Acka(jise)} , e/ {eies-E(es)| Acka(jsise)} .
(—es-causle(es;e’;e)) = es-causl(es; e; €')))
& (Vi:C, j:C.
(Ve:{cres-E(es)| 1 (jiise) & Req,(jie)} , e':{eses-E(es)| S1(isise) & Reay(jse)} -
(—es-causle(es;e’;e)) = es-causl(es; e; €'))
& (Ve:{e:es-E(es)| Sa(jsize) & Reqy(jie)}
e {e:es-E(es)| Sa2(jsize) & Reqq(jse)} .
(—es-causle(es;e’;e)) = es-causl(es; e; €')))
& (Vi:C, j:C.
(Ve:{e:es-E(es)| S1(j;i;e) & Reqq(j;e)} , e':{e:es-E(es)| S1(j;i;e) & Reqq(j;e)} .
es-causl(es; e; ¢’)
= (Ja:{e:es-E(es)| Acki(jize)} . (es-causl(es; e; a) & es-causl(es; a; €'))))
& (Ve {ewes-E(es)| Sa(jsise) & Reqy(jie)}
e/ {ees-E(es)| Sa(j;i;e) & Regq(jse)} -
es-causl(es; e; €’)
= (Ja:{e:es-E(es)| Acka(j;ise)}
(es-causl(es; €; a) & es-causl(es; a; €')))))
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